ROMANIAN MATHEMATICAL MAGAZINE

Leta,b,c > 0,a? + b? + ¢* = 3.Prove that:

a’? b* c*
—+—+—+abc=4
b c a

Proposed by Nguyen Van Hoa-Vietnam

Solution by Mohamed Amine Ben Ajiba-Tanger-Morocco

WLOG, we assume that b is between a and c. By AM — GM inequality, we have

a’? b* c? a? b? c?
—+—+—+abc=|—+a’b |+ (—+b%*c)+|—+c*a)+abc—(a’b + b*c + c*a) >
b c a b c a

> 2a® +2b% + 2¢? + abc — (a*b + b*c + c?a) =6 + c(a—b)(b—¢) — b(a®? + ¢?) =
>6-b(3-b%)=4+(b+2)(b—1)?2 =4,

as desired. Equality holds iffa=b = c = 1.



